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i 1.000] 1,210, 105 FEARTEEY THREATRHA N —5
= 1. 000 156, 094 DXy P A W S B i A — 1
I 1. 000 200, 694 Doy BT A S 5 S AT A — 2
= 1. 000 255, 301 Doy PR W S S i A — 3
I 1. 000 353, 094 Doy BT W 5 AT A — 4
= 1. 000 472, 894 Py P A W S i A — 5
I 1. 000 598, 390 DXy BT ) 55 TR A — 6
= 1. 000 795, 389 DXy P A W S S i A — 7
I 1.000] 1,046,993 Doy BT S 5 T A — 8
{1 T 1. 000 232,513 THFETRA ( TEY) —1
fii P 1. 000 293, 633 TR RTA ( TEY) —2
& A 1. 000 522, 451 T FRTRA ( TIEY) —3
{1 T 1. 000 843, 991 TR RTE ( TEY) —4
i1 AT 1.000] 1,192,469 TS RTRA ( TIEY) —5
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BEANRE
R | RN A o e R ( S € D2 % 1B e s er
H B |HHRESTEERMEN ( B29%)
IHH - TH- #5) LI BE S8 MBI ER
& AT 1.000[ 1,660,743 AT A ( TIEY) —6
fii T 1.000[ 2,244,317 LR ( TEY) —7
TR TRESEAT AR X 1. 000
[ 1. 000 58, 401 HWEIZBE TS (R
[ 1. 000 58, 401 PR EIERE
W) DI HBER B O RZ 2 MO F T 2N 1. 000
MR 1. 000 263, 066 W5 D IR ER AT O R PE D BE
[ 1. 000 43,221 BERS SO M ERBIFTAE 3 0 0 ni Al
[a] 1. 000 53, 807 BEAYE O EREIBINFIA 3 0 0 ni~5 0 0 miAiii
[ 1. 000 66, 512 BEHSE O EREBNFIE 50 0 ni~8 0 0 miKiiii
[a] 1. 000 96, 862 BRI EMAE 8 00 mi~1 3 0 0 mi Al
[ 1. 000 132, 858 BERSAEOMFHERBINFGIE 1300 ni~2 00 0 niKll
[a] 1. 000 173,795 BEH % O I EREEMERA 2 0 0 0 mi~3 0 0 0 niAlili
[l 1. 000 238, 022 BEd o EREB A 300 0 mi~5 0 0 0 i A&l
Al 1. 000 313, 544 BEH S i I EREEMERA. 500 0 mi~7 0 0 0 i Al
[l 1. 000 394, 006 BERISEO M FEREINFHA 7000 m~1 00 0 0 m Al
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BEANRE
R | RN A o e R ( S € D2 % 1B e s er
H B |HHRESTEERMEN ( B29%)
IHH - TH- #5) LI BE S8 MBI ER
| 1. 000 517,691 BEdSE 0 HEREBMFHE 10000 mi~15000 miAlif
[ 1. 000 708, 963 BEHIG SO M EREENFHIE 15000 mi~25000 mAl
] 1. 000 929, 175 BEd S0 LB NFHE 25000 mi~3 5000 A&l
RIS O B ROMERRSE X 1. 000

ECIES 1. 000 61, 553 B R D RE
B 1. 000 213,316 BRI DERET RO AERK

i 1. 000 205, 554 AEHEY) (BUSHEY) BE A —1

1 1. 000 261, 626 AR ((RUGEY) FE A —2

i 1. 000 335, 080 AEHEY) (BUSHEY) BE A —3

1 1. 000 467, 183 ARy ((BUGEY) FE A —4

i 1. 000 623, 146 AEHEY) ( BUSHEY) BE A —5

1 1. 000 784, 881 s ((BUSEY) FE A —6

i 1. 000 233, 528 Aty ((BUSEY) BE B —1

Tk 1. 000 296, 172 A (FUSHEY) FE B —2

i 1. 000 380, 435 Ay ((BUSEY) BE B —3

Tk 1. 000 529, 702 A& ( FUSHEY) FE B —4




27/28

BEANRE
R | RN A o e R ( S € D2 % 1B e s er
H B |HHRESTEERMEN ( B29%)

IHH- T f5l LI BE S8 MBI ER
i 1. 000 706, 117 AERY ((RISHEY) BE B —5
i 1. 000 888, 522 ARy (IS EY) BHE B —6
i 1. 000 141, 303 s ((RUSHEY) FE C —1
i 1. 000 180, 184 Y ((BUGEY) FE C —2
i 1. 000 230, 093 AR ((BSHEY) BE C —3
i 1. 000 321, 488 Y ((BUGEY) FE C —4
i 1. 000 428, 029 AERY ((BISHEY) BE C —5
1 1. 000 540, 556 s ((BUSHEY) FE C —6
i 1. 000 720, 744 AEHEY) (BUSHEY) BE C —7
1 1. 000 815, 137 HEAREEY ( BUSHEY) FEA -1 —A
i 1. 000 565, 394 IEARIEEY ( BULHEY) FEA —1 —
1 1. 000 712, 636 HARIEEY ( BULNHEY) FHEA —2 —
i 1. 000 666, 044 AR ( BUSEY) BEB —1 —A
i 1. 000 461, 940 IEARE Y (RUREY) BEB —1 —
i 1. 000 582, 033 A ( BULHY) BEB —2 —
TR 1. 000 614,570 FEARTE Y (RIS EY) REC —1 —A
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BEENRE
FBA |56 LR M i % s BB  BE) € D2 ¥ 7 A RES R
H B |HHRAESEEREMEN ( 829%)
THE - THE- #Ehl E:7va e &R AABIPNER
[y 1.000 424, 464 JEAREEY ( FRIGEY) EEC —1 —
T 1.000 536, 538 FEAREEY ( FRISEY) FHEC —2 —
SE AT 2V 1.000]| 235, 490, 000




